o2

O

ooo oa ooo oa oo

O000 0DD00O0 OO0 O0D0O0=The woman and the man are talking together. //

{Both the man and the woman use the plain-style.}

000 00DOO00000D0 D000 0odonO =Canyou help me to move (house) next
week? <request>

*DDDDDD 00O g1 =help

*X)U D000 O [ftesforml 00 00O = (X) do O for me, (X) do O and (X) give me a favor
*[te-form] O 0O O O O = less polite than [te-form] O 0 0 0 O O = Can you do O ? Could you do
0 ? <request>/

Oo0oad

Request:
[te-form] 00 00 O =Canyoudo 0 ?

[te-form] 00000 O =Canyoudo O ?

[te-form] 0 0O O O = Please do [

[te-form] 000000 O = Could you please do O ?, Would you please do [1 ?
te-form] 0000000 O = Could you please do [ ?, Would you please do [ ?
[te-form] 000 OO O = Could you please do [0 ?, Would you please do O ?
[te-form] OO O OO O O = Could you please do O ?, Would you please do O ?
te-form] 0000 00O O = Could you please do U ?, Would you please do [ ?
te-form] 000 000 0O O = Could you please do [ ?, Would you please do [ ?
HREEN

M:
0 0O = <plain-style-nonpast-affirmative> of 0 0 0 O = (X) is good. OK. /
O00O=1but 2 <used to show a hesitation>/
O O
OO0 0000 OO0 O0=Youmove (house) again.
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*O 000 =<plain-style-nonpast-affirmative> of O O 0 O O O g1 = move (house), change

regidence
* [0 0O = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’

becomes ‘na’.)] 0 00’ =

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because .....

- [ can be changed to [I . /

O0=....,isntit?7 ; ..... , am | right? <confirmation particle> //

5 5 O DDDD 00O =Is the room small?

* ‘[i-adjective]’ can be the plain-style-nonpast-affimative of ‘[i-adjective] O [ .

* O 0O = <plain-style of> ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] 0 O
o0’ = ... , | wonder? //

F:

000 0= No.

[N oo

000 OO0 O =the size of the room + O (also) /
0ooo

00 O =place + O (also) /

oooo

0000 =there is no problem = <plain-style-nonpast-negative>of O U () 0 O OO (thereis

a problem)
0 0O = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’

becomes ‘na’.)] 0 00O’ =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;

...... , | want to emphasize ;

...... , | really want to say so ;

because .....

- [ can be changed to (I . /

O0O0O=1but 2<usedtoshow a hesitation>/

oooo

00O 0O =building + [0 <subject particle>/
000 =(X)isold and .....
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* To join the sentence which ends with [i- adjective / na-adjective / noun] [J [0 ’ to another
sentence, ‘[stem of i-adjective] 00 O or [stem of na-adjective / noun] O’ is used .

We call them te-form of an adjective and a noun.

To join adjectives, we also use te-form of an adjective.

And it is sometimes used to show reason as well. te-form of an adjective and a noun can be
used in either the nonpast sentence or the past sentence.

* In addition to ‘[stem of i-adjective] [ [ ’, [stem of i-adjective] [1 ’is also used to be more
formal. /

oo

U = nasty
0 00O =00 =<plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective /
noun] da’ becomes ‘na’.)] 0 OO’ =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because .....

- [0 can be changed to O . //

Both the size of the room and the place have no problem, but the building is old and | don’t like
it.

oooo

0 O O = recently, lately /

oooo

oo
000 OO =with one’s neighbor

oooo

000 OO0 =make friends with = <plain-style-past-affirmative>of D O 0 0 OO O (make

friends with) /

00 0O =because U /

DDD DDD = regrettable, regretful, disappointing /

0 00O =00 =<plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective /
noun] da’becomes ‘na’.)] 0 OO’ =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;

...... , | want to emphasize ;

...... , | really want to say so ;

because ..... — [0 can be changedto U ./

OOO=1but 2 <usedto show a hesitation> //

Because | made friends with my neighbor recently, | regret. (It is a pity. It is regrettable.)

3/18



M:
OO0 0000 =00 0000 0d=I1see.Isthatso?

*00 00 =[plain-style (but, ‘da’ of {[na-adjective / noun] da’ becomes ‘na’.)]0 OO =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

- [0 can be changedto 0. //

ooo oOooo 0ooo oooo

gooobo ooooo D 00 0000 =The male student and the female student are talking
together. //

ooo oOooao

O D ooad D O D 00 0000 0= With whom does the woman live?
*DDDD g1 =live
* [te-form] O O O =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

{The man uses the plain-style and the woman uses the polite-style.}

Oooo ooo oooo

00000000 000 OO0 =Mrs Yamada, how is hour new life?
*O0 00 =<plain-style>of 0 0 0 00O =How is (X)? How about (X)?

0oooo 0o

00000 DO0O0OO0OO=Yes, (my life) is enjoyable every day. ; | enjoy every day. //

ooooo oooo

0000 OO0 OO0 0000 =don’t stay with one’s parents and ....
* [na-adjective /noun]| 00 OO0 =
[na-adjective /noun] D 0000000 O0O0O0O=1(X)isO and ....... <used to join sentences>

2 (X) is 0 and therefore <used to show a reason> //
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oo
00000 =be not lonely = <plain-style-nonpast-affirmative> of 0 [0 00 0 O (be lonely)
o/

You don’t stay with you parents, so don’t you feel lonely?

O00=but/

000D 0000

O 0O OO0 =with my younger brother /

5 00 OO0 =<plain-style-nonpast-affirmative>of 0 00 O 0O O = be living now

0000 g1 =live

* [te-form] O O O =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

00O = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] O O = because [

* Basically we use the plain-style right before ‘0] O ’°, however, we can use the polite-style to be
more formal.

oooooa

000000 =be all right, no problem //

But, I live with my younger brother, so | am OK.

M:

OO0 0O O00O=<plain-style>of 00 0O OOO O =1see. Isthat so?

* [0 0 = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘{na-adjective / noun] da’
becomes ‘na’.)] 0 00’ =

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because .....

- [0 can be changed to O . //
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F:
oo
OO O0O0O0=1also have an elder sister.

ooooo oooo

D D god ooo D 00 0000 =My elder sister lives with my parents.
*DDDD g1 =live
* [te-form] O O O =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

oooo ooo goooao ooo oO0o0oo

000oo0ooooo obood D 00 0000 = Inthe university, the female student is talking
with the male student. //

ooo oooo ooo oooo oooo

O0000000000000 O000000=When does the female student consult with
the male student? //

{The male student uses the plain-style and the female student uses the polite-style.}

F:

oooo

0 O O = one’s senior, one’s upperclass student /

DDD DDDD 00 00 =the thing which (X) want to consult

*O000 OO =<plain-style-nonpast-affirmative>of O 0 0 OO OO = want to consult
[0 <direct-object particle of 0 O O OO (have)>/

0 0O = <plain-style-nonpast-affirmative> of 0 0 0 O g1 (there is O, have, exist) /
000 =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] 0 OO =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— [0 can be changedto 0./

O0=1but 2 <usedtoshow a hesitation>/
ogd

OO=now/

O00000=Is (X) good? //
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Sir, | would like to have a talk with you. Is it OK to talk with you now?

M:
OO00O0O=lesspolitethan D OO OO0 =1am sorry. //

ooooo

DDDD O 000 OO0 O00=1have aclass from now.

* [0 0O = <plain-style-nonpast-affirmative> of 0 00 0 O g1 (there is O, have, exist) /

* 00O = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’
becomes ‘na’.)] 0 OO’ =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because .....

- [0 can be changed to O . //

F:
O00000=Isee. Isthatso?//

Oooo oooo

000000 OO0 O000000=Then, how about this evening? //

oo o gooa

6000 OO0 OO OOO=1have an appointment at six o’clock, but
* O 0O = <plain-style-nonpast-affirmative> of 0 0 O O g1 (there is O, have, exist)
*O0ODO=1but 2<usedto show a hesitation> //

0oo o oo oooooa

400000000 O O0O0=Ifyou are talking about around four o’clock, | am OK.

*0O 0O =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ must be omitted.)] 0 O =if [J
<supposition> <lt is followed by an expression that conveys the speaker’s judgement or a
question asking for the listener’s opinion.> /
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* [na-adjective, noun] O = <plain-style-nonpast-affirmative> of ‘[na-adjective, noun] O I’ = is
(are, am) //

= Ah! (expression of surprise, recollection, etc.), Oh!/

M

00

0o O oo

000 OO0 =eventomorrow noon /

00O = <plain-style-nonpast-affirmative> of 0 0 0 0 = (X) is good
00

= ...., you know? ; ..... | tell you. ; ..... , | am convinced. //

Ah! Tomorrow noon is also OK.

F:
O00000=1am sorry.

ooao ooao

00 000 00 DODOOOd=I1have something to do tomorrow.
* O 0O = <plain-style-nonpast-affirmative> of 0 [0 O O g1 (there is O, have, exist)
*O00 00 =[plain-style (but, ‘da’ of {{na-adjective / noun] da’ becomes ‘na’.)] 0 OO =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— [0 can be changed to 0. //

M:
00 0O =<plain-style> of OO0 OO0 =1see. Is that so? //

0ooo

00000000 OO0 ODDO0O0O=Then, let’s do ittoday afterall. 0 0O
*0000 =1 asone (had) expected, sure enough 2 after all, on second thought
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*0 00O =let’s do = volitional-from of O 0 [0 g3 (do)
* volitional-form / [masu-form] O O O O =1 Let’s do [0 together. 21 shall do [
*(A) O [stem of i-adjective] O 0O OO, (A) O [stem of na-adjective] 0 OO OO0 = make (A)

[adjective]
*(A) O [noun] O O OO =make (A) [noun]

*[noun] 0 O OO =decide on [noun], choose [noun], order [noun] //

ooooo

O D ooon D 00 O000=Then, | will be waiting for you in the classroom.
* D 000 =wait
* [te-form] O O O =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

oooo ooo oooo ooo goooooao

gooboooooo ob oood D OO0 0000 = In the school, the male teacher and the
female overseas student are talking together. //

ooo ooooooo

O0 D0 O0D0O00b000 00bbob0 0 b0bOdOdo=Whythe female overseas student
want to have a part-time job?

{Both the male teacher and the female overseas student use the polite-style.}

M:

oooo
O00O0O OO0 0000 =The winter holiday is coming soon. The wind holiday is just around
the corner.

oooo

goobo ooo D O 0 O O O = Are you going anywhere for your trip?
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F:
O0O0O0O=No.

oooo

0000 00000 000000 00 000000 =1intend to work part-time at the

department store during the winter holiday.
*000000 OO = <plain-style-nonpast-affirmative>of 00 00 0 (0)0 0O O g3 =have a

part-time job, work part-time.
* [dictionary-form / nai-form] 0 O O O O =intend to do [0, don’t intend to do O //

M:
00 O = Ah! (expression of surprise, recollection, etc.), Oh!/
OO00000O=1see. Is that so?

F:
Oooooo ooo oo O
U

000 00 00 00O OO0 O0O00=1wantto know how the Japanese work.
*(A) O [masu-form] O OO = how to do (A), the way of doing (A)
*[masu-form] O 00 0O =wanttodo O //

oooo

O0000 0000 O0=1twill agood experience for you.
* [stem of i-adjective] O O O O O ;[na-adjective] O 0O O O O = become [adjective]
*[noun] 0 OO 0O0O =become [noun] //

0 0 oooo

DD DD o0 ooo oo d DDDD 0 OO = I think that your Japanese will also improve.
* O 0O = <plain-style-nonpast-affirmative> of 0 J U [0 g1 = become

* [stem of i-adjective] 0 O O O O ; [na-adjective] 0 0O 0O 0O O = become [adjective]
*[noun] 0 OO OO =become [noun] //
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40]

] ]

0 oo O O

00000 OO0 O0OD0O0O=You are listening to the weather forecast.

*0000 g1 =hear, listen

* [te-form] O O O =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

ooooao ooooooo oo

Od0o0oooO oo oo D 0 O D 00 0O0000O=What day of the week does the weather
forecast say it rains throughout the day?

* 5 0 = <plain-style-nonpast-affirmative> of 0 0 0 00 g1 = (something) fall (from the sky)

* 5 gdd gl =say

* [te-form] O O O =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

{The man uses the polite-style to speak.}

ooooo oooo o ooooooo

a
oo oboboboo 1004 d

week from Monday.

O O

oo O
000000 =1will report the weather forecast of Tokyo for one

oooo o ooo o

0000 0000 OO0 OD0O0O00=Probably it will be fine Monday and Tuesday.
*O 00 =<plain-style-nonpast-affirmative> of [1 O O [0 g2 = clear up, clear away, be sunny,

stop raining
* [plain-style (‘da’ in [na-adjective / noun] da’ becomes ‘na’)] 0 O 0O O = ‘1 Probably ....... ,

2 . , right? //

oooo a 0Oooooo

goooooodd DDDD DDDDDD 0 DDDDDD U DD g obbob=

Probably it will be fine on Wednesday, but it will be cloudy in the afternoon and it will be raining
at night.

oo
*O000=000000000=getcloudy and .....
* te-form is often used to join sentences or to mean ‘by (means of) doing [0 , with doing [0 ’. And

it is sometimes used to show reason as well.
* 0 0O = <plain-style-nonpast-affirmative> of 0 0 0 0 g1 = become

* [stem of i-adjective] O O O 0O O ; [na-adjective] 0 0O 0O 0O O = become [adjective]
*[noun] 0 O OO0 =become [noun]
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* [plain-style (‘da’ in [na-adjective / noun] da’ becomes ‘na’)] 0 O O O =‘1 Probably ....... ,
2 e , right? //

oooo o oooo

0000 oo ooo D 0 00O O0ODO0O0O=Probably it will raining throughout the day on

Thursday.
*00 0O =1 consecutively, throughout, all the way, all the time 2 much [adjective]

* [0 0O = <plain-style-nonpast-affirmative> of 0 0 0 0 g1 = become

* [stem of i-adjective] O O O 0O O ; [na-adjective] 0 0 0O 0O O = become [adjective]
*[noun] 0 O OO0 =become [noun]

* [plain-style (‘da’ in [na-adjective / noun] da’ becomes ‘na’)] 0 O 0O O = ‘1 Probably ....... ,
2 e , right? //

oooo a ooo o 0ooao

Oodo ooon DDDDDD 000 OO O0O0O00=Probably it will clear up on Friday
and Saturday, and it will be a fine weather.

*5DDD:DDDDDDDDD:cIearupand ......

* te-form is often used to join sentences or to mean ‘by (means of) doing O , with doing O ’. And

it is sometimes used to show reason as well.
* [0 0O = <plain-style-nonpast-affirmative> of (0 J O [0 g1 = become

* [stem of i-adjective] 0 0O 0O 00O ;[na-adjective] 0 O 0O 0O O =become [adjective]
*[noun]O O 0O0O0O =become [noun]

* [plain-style (‘da’ in [na-adjective / noun] da’ becomes ‘na’)] 0 0 0O O = ‘1 Probably ....... ,
2 , right? //

ooo oa ooo oag

gooo ooon D 00 O 000O=The woman and the man are talking together. //

ooo oo oooo

JoooooooonD oog DD DDD 00O 0O 0O 0O=How many books does the man read

recently?
*O0 000 =00 000 =00 000 =00 0dd =howlong?;how far? ; how much? ;

what amount? ; until when? ; until where?
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ooo oo

0 0 0O OO0 = Regarding the man, OK? &=

{Both the man and the woman use the polite-style.}

F:
0Oooo

oo0ooooon DD DDDDDD Mr Yamada, do you often read a book?

0Ooo goooooooo o oooo gooo o

guoooobd DD DD o000 00 odub bbobbbo b0 oo oo bo=

Hmm, (Well,) when | was a child, | used to read more than ten books a month (in one month),
but | don’t read at all recently.

* [plain-style (but, ‘da’ of [na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively.)]
00O =when (X) do (did, is doing, was doing, etc) O /

*O 0O = per month
O
*0000 gl =read
* [te-form] O O O =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

Oooo ooo

000000 OO0 0000 = Yes, my work is really busy. | am really busy with my work.
*00 00 =[plain-style (but, ‘da’ of {[na-adjective / noun] da’ becomes ‘na’.)] 0 OO =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

- [0 can be changed to O . //

0ooo

00000 O000O00=Mrs Tanaka, how about you?
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O0oooog DD D 0 30000 D 00 0000 =Iread about three technical books
(specialized books) a month (in one month) recently.

* DDD 0 = per month

*EDDD g1 =read

* [te-form] O O O =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

oo oooo

goo
o0 0o 10000d DD OO0 OO0 OD0O=1also want to read at least one book a month

(in one month).
*O 0O OO0 =<plain-style-nonpast-affirmative> of U 0 00 0 O O = want to read

* [masu-form] O O 0O O =want to do O
*00 00 =[plain-style (but, ‘da’ of [na-adjective / noun] da’ becomes ‘na’.)]0 OO =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

- [0 can be changed to [ .

*OO=1but 2 <usedtoshow a hesitation>//

ooo oooo 0ooo0 oooo

goodb ooboog D OO0 0000 =The male student and the female student are talking
together. //

000 Ooooo ooo

DDDDDDDDDDDDD OO 0O 000 OO0 O0=What did the woman want to become

when she was a child?
* [plain-style (but, ‘da’ of {{na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively.)]
0 O =when (X) do (did, is doing, was doing, etc) U

*OO O OOO OO =wanted to become
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* [masu-form] O O O O =want to do O
* [stem of i-adjective] O O O 0O O ; [na-adjective] 0 0O 0O 0O O = become [adjective] [noun] O [
000 =become [noun]//

ooo oOooo

00 000 D0 = Regarding the female student, right?

{Both the man and the woman use the plain-style.}

ooao ooooo ooao

000000000000 000 O 00 00 O0d=MrsTanaka, what kind of job do you

want to do in the future?
*[masu-form] 0 00 0O =wanttodo O //

ooooo ooooooo goooo

00000000 000 00 O0O000=1wantto be a primary school teacher in the future.
* [masu-form] O O O O =want to do O

* [stem of i-adjective] 0 0O 0O 00O ;[na-adjective] 0 O 0O 0O O =become [adjective]

*[noun]O O 0O0O0O =become [noun]

oooo

000 00O 0O =You want to be a teacher, | see.

ooo

oo
000 0O 00O 000 0= (Do you want to be a teacher) since you were a child?

* [plain-style (but, ‘da’ of ‘[na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively.)]
0 O =when (X) do (did, is doing, was doing, etc) O //

Oooo

00000000000 00 0O 000 O0O0O0O=1wanted to be a pianist when | was a child.
*O0O O OD0O =wanted to become = <plain-style-past-affirmative>of 0 0 O OO O (want to

become)
* [masu-form] O O O O =want to do
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* [stem of i-adjective] 0 OO 0O O ; [na-adjective] 0 0 0O 0O O = become [adjective]
*[noun]O O 0O0O0O =become [noun]
*0000 =[plain-style (but, ‘da’ of {[na-adjective / noun] da’ becomes ‘na’.)] 0 OO =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

- [0 can be changedto 0. //

oooo O

000 OO0 000 000 00 = You liked music, right?

*0 00O =[na-adjective, noun] 0 00 O = (X) was [0 = <plain-style-past-affirmative> of ‘[na-
adjective, noun] 0 O’ = is (are, am)

*00 00 =[plain-style (but, ‘da’ of [na-adjective / noun] da’ becomes ‘na’.)]|0 OO =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

- [0 can be changed to [ .

*O=...,isntit?7; ..... , am | right? <confirmation particle> //

ooo Oooo oo oooooao

oo
000000000000 00 0O 0 00000=When |was a child, becoming a policeman

was my dream.
* [plain-style (but, ‘da’ of [na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively.)]
0 O =when (X) do (did, is doing, was doing, etc) [

*00 O =to become, becoming

* Here ‘no’ is used to make a noun phrase (to change a verb to a noun).
* O 0O = <plain-style-nonpast-affirmative> of 0 J U [0 g1 = become

* [stem of i-adjective] O O O O O ; [na-adjective] 0 0O 0O 0O O = become [adjective]
*[noun] O O 0O0OO =become [noun]
* [na-adjective / noun] 0 0 0 =was [J = past of ‘[na-adjective / noun]’ [0 I (is, are, am, etc)
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oooooa

0000000 = You wanted to be a policeman, | see.

oooo ooo o

00000000000 00 OO0 OO0OD0O0O =But, recently, | want to be a nurse.

*O 0O OO0 =<plain-style-nonpast-affirmative>of 0 0 [0 0 O O = want to become

* [stem of i-adjective] O O O O O ; [na-adjective] 0 0O 0O O O = become [adjective]

* [noun] 0 0000 =become [noun]

* [masu-form] 0 O O O =want to do O

*00 00 =[plain-style (but, ‘da’ of {[na-adjective / noun] da’ becomes ‘na’.)] 0 OO =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

- [0 can be changedto . //

F:

00000 O 00000=0h,Isee.

* 00 =<used to express admiration>

*000 =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] 0 OO =

...... , | wonder ;

...... , | doubt ;

...... , | want to draw your attention ;
...... , | want to emphasize ;

...... , | really want to say so ;
because ......

— [0 can be changedto 0. //

ooo oo oooo O

O0000 000 000 0000 =Atthe harbor, you are listening to the information of the
ship.
oooo
* [0 0 =information, guidance, leading
a
*O0000 g1 =listen, hear

* [te-form] O O O =1 be doing now 2 <situation, state> 3 <habitual repeated action> //
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{The woman uses the plain-style to speak.}

oooo ooooo

gooooooo D [ D 0 000000 = Everybody, the next ship will depart soon. //

oo ooooooo

D 00 D O0o0oo0d 38 OO0 D O O 00 = The ship will go around the nearby island in thirty
minutes.

* DDDD 00 g1 =turn, revolve rotate, go around, circulate

D o0 O DDDDD [ DDDDD O D OO0 00 0O 000D D0 =We can enjoy the beautiful scenery from
the sea.

* DDDD 0 = <plain-style-nonpast-affirmative>of J O 0 0 O g1 = enjoy

* [dictionary-form] 0 0 O 0O 0O OO = can enjoy, be able to enjoy //

ooooo 000 0 oooooo Oooo

000 100 20 OO OO 0O0OO=The departure will be at ten o’clock and twenty minutes.
* [plain-style (but, ‘da’ of ‘[na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively.)]
0000 =planto do O, be due (to) //

ooooo

O
OO0 100 0 OO0 = There are ten minutes left before departure.

oo oo

0000000 0o D 0O 00O O O0O0ODOO=You can buy the ticket on the ship.
* [0 0O = <plain-style-nonpast-affirmative> of [ [0 0 O g1 = buy
* [dictionary-form] 00 O OO OO =cando [0, be able todo O //

oooo

O D O D 00 OD0O00 00 = Everybody, why don’t you try to board?

* D 00O 0O g1 =geton, board, ride in, ride, mount, get up, travel on or in (train, etc.)
*[te-form] D OO =trytodo O, do 0 and see how

* The negative-question particle can be used to show the invitation. //

18/18



